

Estimates of Gamma and Beta Functions

Frej CHOUCHENE^{1,*}

¹Department of Mathematics, Higher School of Sciences and Technology of Hammam Sousse, University of Sousse, Tunisia

Received: 05.07.2019

Accepted: 02.11.2019

Published Online: 13.11.2019

Abstract: In this paper, we present and describe some of the most important properties of gamma and beta functions. Some new results on the theory of inequalities for these functions are also given.

Keywords: Gamma function, Beta function, Inequalities, Estimates.

1. PRELIMINARIES

We present some fundamental relations and identities for gamma and beta functions.

1.1 Gamma function

Let $z \in \mathbb{C} \setminus \mathbb{Z}_-$. It is well-known that the classical Euler gamma function can be defined by

$$\Gamma(z) := \begin{cases} \int_0^{+\infty} t^{z-1} e^{-t} dt, & \text{if } \Re z > 0, \\ -\frac{\pi}{z \sin(\pi z) \Gamma(-z)}, & \text{if } \Re z < 0, \\ -i \frac{\pi}{\sinh(\pi \Im z) \Gamma(1-z)}, & \text{if } \Re z = 0, \quad \Im z \neq 0. \end{cases}$$

The gamma function was first introduced by the Swiss mathematician Leonhard Euler (1707-1783) in his goal to generalize the factorial to non integer values. Later, because of its great importance, it was studied by other eminent mathematicians like Adrien-Marie Legendre (1752-1833), Carl Friedrich Gauss (1777-1855), Christoph Gudermann (1798-1852), Joseph Liouville (1809-1882), Karl Weierstrass (1815-1897), Charles Hermite (1822-1901), ... as well as many others. The gamma function belongs to the category of the special transcendental functions and we will see that some famous mathematical constants are occurring in its study. This function is an important object in various areas of mathematics. It appears in many different contexts and applications as integration formulas, asymptotic series, hypergeometric series, Riemann zeta function, number theory... Euler's gamma function has also been widely studied (see [1]–[44]). Now, we give some properties of the gamma function (see e.g., [29]).

Recurrence formula:

$$\Gamma(z+1) = z\Gamma(z). \quad (1)$$

$$\forall n \in \mathbb{N}, \quad \Gamma(n+1) = n!$$

$$\Gamma(1) = \Gamma(2) = 1.$$

* Correspondence: frej.chouche@essths.u-sousse.tn

$$\Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}.$$

Legendre's duplication formula:

$$\Gamma(2z) = \frac{2^{2z-1}}{\sqrt{\pi}} \Gamma(z) \Gamma\left(z + \frac{1}{2}\right). \tag{2}$$

Euler's reflection (or complement) formula:

$$\Gamma(z)\Gamma(1-z) = \frac{\pi}{\sin(\pi z)}, \quad z \notin \mathbb{Z}.$$

$$\forall y \in \mathbb{R} \setminus \{0\}, \quad \Gamma(iy)\Gamma(1-iy) = -i \frac{\pi}{\sinh(\pi y)}.$$

$$\Gamma\left(\frac{1}{2} + z\right)\Gamma\left(\frac{1}{2} - z\right) = \frac{\pi}{\cos(\pi z)}, \quad z \notin \left(\frac{1}{2} + \mathbb{Z}\right).$$

$$\forall y \in \mathbb{R}, \quad \Gamma\left(\frac{1}{2} + iy\right)\Gamma\left(\frac{1}{2} - iy\right) = \frac{\pi}{\cosh(\pi y)}.$$

$$\Gamma(z)\Gamma(-z) = -\frac{\pi}{z\sin(\pi z)}, \quad z \notin \mathbb{Z}.$$

$$\forall y \in \mathbb{R} \setminus \{0\}, \quad \Gamma(iy)\Gamma(-iy) = \frac{\pi}{y\sinh(\pi y)}.$$

$$\forall n \in \mathbb{N} \setminus \{0\}, \quad \Gamma(nz) = \frac{n^{nz-\frac{1}{2}}}{(2\pi)^{\frac{n-1}{2}}} \prod_{k=0}^{n-1} \Gamma\left(z + \frac{k}{n}\right).$$

$$\overline{\Gamma(z)} = \Gamma(\overline{z}).$$

$$\forall n \in \mathbb{N} \setminus \{0\}, \forall y \in \mathbb{R}, \quad |\Gamma(n+1+iy)|^2 = \frac{\pi y}{\sinh(\pi y)} \prod_{k=1}^n (k^2 + y^2).$$

$$\forall n \in \mathbb{N} \setminus \{0\}, \forall y \in \mathbb{R}, \quad \left| \Gamma\left(n + \frac{1}{2} + iy\right) \right|^2 = \frac{\pi}{\cosh(\pi y)} \prod_{k=1}^n \left[\left(k - \frac{1}{2}\right)^2 + y^2 \right].$$

$$\Gamma(x) \sim_{+\infty} \sqrt{2\pi} x^{x-\frac{1}{2}} e^{-x}.$$

$$\forall a \in \mathbb{C}, \quad \Gamma(x+a) \sim_{+\infty} \sqrt{2\pi} x^{x+a-\frac{1}{2}} e^{-x}.$$

Stirling's (asymptotic) formula:

$$\Gamma(x+1) \sim_{+\infty} \sqrt{2\pi} x^{x+\frac{1}{2}} e^{-x}.$$

$$\forall p, q > 0, \forall a, b \in \mathbb{C}, \quad \frac{\Gamma(px+a)}{\Gamma(qx+b)} \sim_{+\infty} \frac{p^{a-\frac{1}{2}}}{q^{b-\frac{1}{2}}} x^{(p-q)x+a-b} e^{[p(\ln p-1)-q(\ln q-1)]x}.$$

$$\forall p > 0, \forall a, b \in \mathbb{C}, \quad \frac{\Gamma(px+a)}{\Gamma(px+b)} \sim_{+\infty} p^{a-b} x^{a-b}.$$

Wendel's limit:

$$\forall a, b \in \mathbb{C}, \frac{\Gamma(x+a)}{\Gamma(x+b)} \sim_{+\infty} x^{a-b}.$$

$$\forall p > 0, \forall a, b \in \mathbb{C}, \frac{\Gamma(px+a)}{\Gamma(x+b)} \sim_{+\infty} p^{a-\frac{1}{2}} x^{(p-1)x+a-b} e^{[p(\ln p-1)+1]x}.$$

$$\forall p, q > 0, \forall a \in \mathbb{C}, \frac{\Gamma(px+a)}{\Gamma(qx+a)} \sim_{+\infty} \left(\frac{p}{q}\right)^{a-\frac{1}{2}} x^{(p-q)x} e^{[p(\ln p-1)-q(\ln q-1)]x}.$$

$$n! \sim_{+\infty} \sqrt{2\pi} n^{n+\frac{1}{2}} e^{-n}.$$

$$\Gamma(x) \sim_{0^+} \frac{1}{x}.$$

1.2 Beta function

1.2.1 $B(p, q)$, $p, q \in \mathbb{C} \setminus \mathbb{Z}_-$

Let us now consider the useful and related function to the gamma function which occurs in the computation of many definite integrals. It is defined, for $p, q \in \mathbb{C} \setminus \mathbb{Z}_-$, by

Definition 1.2

$$B(p, q) := \begin{cases} \int_0^1 t^{p-1}(1-t)^{q-1} dt, & \text{if } \Re p, \Re q > 0, \\ -\frac{\pi(p+q)\sin(\pi(p+q))}{pq\sin(\pi p)\sin(\pi q)B(-p,-q)}, & \text{if } \Re p, \Re q < 0, \\ & p, q, p+q \notin \mathbb{Z}, \\ -\frac{\pi}{p\sin(\pi p)B(-p,p+q)}, & \text{if } \Re p < 0 < -\Re p < \Re q, \\ & p \notin \mathbb{Z}, \\ \frac{(p+q)\sin(\pi(p+q))}{p\sin(\pi p)} B(-(p+q), q), & \text{if } \Re p < 0 < \Re q < -\Re p, \\ & p, p+q \notin \mathbb{Z}, \\ -i \frac{\pi}{q\sinh(\pi \Im p)B(1-p,p+q)}, & \text{if } \Re p = 0 < \Re q, \\ & \Im p \neq 0, \\ -i \frac{\pi \sinh(\pi(\Im p + \Im q))}{(1-(p+q))\sinh(\pi \Im p)\sin(\pi \Im q)B(1-p,1-q)}, & \text{if } \Re p = \Re q = 0, \\ & \Im p, \Im q, \Im p + \Im q \neq 0, \\ i \frac{\pi \sin(\pi(p+q))}{p\sin(\pi p)\sinh(\pi \Im q)B(-p,1-q)}, & \text{if } \Re p < 0 = \Re q, \\ & \Im q \neq 0, p, p+q \notin \mathbb{Z}, \\ i \frac{\sinh(\pi(\Im p + \Im q))}{\sin(\pi p)} B(1-(p+q), q), & \text{if } \Re p < 0 < \Re q = -\Re p, \\ & p \notin \mathbb{Z}, \Im p + \Im q \neq 0, \\ 0, & \text{if } \Re p \leq 0, p \notin \mathbb{Z}, \\ & q = -(p+n), n \in \mathbb{N}, \\ B(q, p). \end{cases}$$

1.2.2 $B(p, q)$, $p, q > 0$

Let $p, q > 0$.

$$B(p, q) = \int_0^1 t^{p-1}(1-t)^{q-1} dt.$$

We give some properties of the beta function (see [29]).

$$B(p, q) = \frac{\Gamma(p)\Gamma(q)}{\Gamma(p+q)}.$$

$$B(q, p) = B(p, q).$$

$$B(p, p) = \frac{(\Gamma(p))^2}{\Gamma(2p)} = 2^{1-2p}\sqrt{\pi} \frac{\Gamma(p)}{\Gamma(p+\frac{1}{2})} = 2 \int_0^{\frac{1}{2}} [t(1-t)]^{p-1} dt. \tag{3}$$

There exist many useful forms of the beta integral which can be obtained by an appropriate change of variables. In particular, we have

$$B(p, q) = \int_0^{+\infty} \frac{t^{p-1}}{(1+t)^{p+q}} dt. \tag{4}$$

$$0 < 2^{2(1-p)} < B(p, p), \quad 0 < p < 1.$$

$$\Gamma\left(p + \frac{1}{2}\right) < \frac{\sqrt{\pi}}{2}\Gamma(p), \quad 0 < p < 1.$$

$$\Gamma(2p) < \frac{(\Gamma(p))^2}{2^{2(1-p)}}, \quad 0 < p < 1.$$

$$B(1,1) = 1.$$

$$0 < \frac{1}{2^{2(p-1)}(2p-1)} < B(p, p) < \frac{1}{2^{2(p-1)}}, \quad p > 1.$$

$$0 < \frac{\sqrt{\pi}}{2}\Gamma(p) < \Gamma\left(p + \frac{1}{2}\right) < \frac{(2p-1)\sqrt{\pi}}{2}\Gamma(p), \quad p > 1.$$

$$0 < 2^{2(p-1)}(\Gamma(p))^2 < \Gamma(2p) < 2^{2(p-1)}(2p-1)(\Gamma(p))^2, \quad p > 1.$$

$$B(p, 1) = \frac{1}{p} > 1, \quad 0 < p < 1.$$

$$B(1, q) = \frac{1}{q} < 1, \quad q > 1.$$

$$0 < 2\ln 2 < B(p, 1-p) = \frac{\pi}{\sin(\pi p)} < \frac{1}{p(1-p)}, \quad 0 < p < \frac{1}{2}.$$

$$0 < 2 \frac{2^{1-(p+q)}-1}{1-(p+q)} < B(p, q) < \frac{2^{1-(p+q)}(p+q)}{pq}, \quad 0 < p < \frac{1}{2}, \quad 0 < p < q < 1-p < 1.$$

If $0 < p < \frac{1}{2} < 1-p < q < 1$ or $0 < 1-p \leq \frac{1}{2} \leq p < q < 1$, then

$$0 < \frac{2^{p+q-1}-1}{2^{p+q-2}(p+q-1)} < B(p, q) < \frac{p+q}{2^{p+q-1}pq}.$$

$$0 < \frac{2^{p-1}(2^q q + p + q - 1) - q}{2^{p+q-1}q(p+q-1)} < B(p, q) < \frac{2^{q-1}(2^p p + p + q - 1) - p}{2^{p+q-1}p(p+q-1)}, \quad 0 < p < 1 < q.$$

$$0 < \frac{1}{2^{p+q-2}(p+q-1)} < B(p, q) < \frac{2^{p+q-1}-1}{2^{p+q-2}(p+q-1)}, \quad 1 < p < q.$$

$$B(q, q) \sim_{+\infty} 2\sqrt{\pi} 2^{-2q} q^{-\frac{1}{2}} \rightarrow 0, \quad q \rightarrow +\infty.$$

$$B(1, q) = \frac{1}{q} \rightarrow 0, \quad q \rightarrow +\infty.$$

$$B(p, q) \sim_{+\infty} \Gamma(p)q^{-p} \rightarrow 0, \quad q \rightarrow +\infty, \quad p > 0.$$

2. MAIN RESULTS

Let $p \geq q > 0$.

Proposition 2.1

$$B(p, p) \leq B(p, q) \leq B(q, q).$$

Proof. Since $p \geq q$, then on one hand

$$B(p, q) = \int_0^1 t^{p-1}(1-t)^{q-1} dt \geq \int_0^1 t^{p-1}(1-t)^{p-1} dt,$$

on the other hand

$$B(p, q) = \int_0^1 t^{p-1}(1-t)^{q-1} dt \leq \int_0^1 t^{q-1}(1-t)^{q-1} dt.$$

Proposition 2.2

$$\left(\frac{1}{2}\right)^{\max(p-q, 1)} B(q, q) \leq B(p, q) \leq \left(\frac{1}{2}\right)^{\min(p-q, 1)} B(q, q).$$

Proof. We write

$$\begin{aligned} B(p, q) &= \int_0^{\frac{1}{2}} t^{p-1}(1-t)^{q-1} dt + \int_{\frac{1}{2}}^1 t^{q-1}(1-t)^{p-1} dt \\ &= \int_0^{\frac{1}{2}} [t^{p-q} + (1-t)^{p-q}][t(1-t)]^{q-1} dt. \end{aligned}$$

We consider now the function $t \mapsto t^{p-q} + (1-t)^{p-q}$, $0 < t < \frac{1}{2}$. This function is decreasing (resp. increasing) for $p - q \geq 1$ (resp. $0 \leq p - q < 1$). Then

$$\left(\frac{1}{2}\right)^{p-q} B(q, q) \leq B(p, q) \leq \frac{1}{2} B(q, q), \quad \text{for } p - q \geq 1,$$

and

$$\frac{1}{2} B(q, q) \leq B(p, q) \leq \left(\frac{1}{2}\right)^{p-q} B(q, q), \quad \text{for } 0 \leq p - q < 1.$$

Proposition 2.3

1. If $0 < q < 1$ and $p \geq q$, then $\frac{2^{2(1-q)}}{p-q+1} \leq B(p, q)$.
2. If $p \geq q \geq 1$, then $B(p, q) \leq \frac{1}{2^{2(q-1)}(p-q+1)}$.

Proof. We use the equality $B(p, q) = \int_0^{\frac{1}{2}} [t^{p-q} + (1-t)^{p-q}][t(1-t)]^{q-1} dt$, and the inequality $t(1-t) < \frac{1}{4}$, for $0 < t < \frac{1}{2}$. Then in the first case,

$$B(p, q) \geq \left(\frac{1}{4}\right)^{q-1} \int_0^{\frac{1}{2}} [t^{p-q} + (1-t)^{p-q}] dt = \frac{2^{2(1-q)}}{p-q+1}.$$

And the inequality is reversed in the second case.

Proposition 2.4

1. If $p \geq q \geq 1$, then $\frac{p+q}{2^{p+q-1}pq} \leq B(p, q) \leq \frac{(2^q-1)p+(2^p-1)q}{2^{p+q-1}pq}$.
2. If $0 < q \leq p \leq 1$, then $\frac{(2^q-1)p+(2^p-1)q}{2^{p+q-1}pq} \leq B(p, q) \leq \frac{p+q}{2^{p+q-1}pq}$.
3. If $0 < q \leq 1 \leq p$, then

$$\frac{1}{2^{p+q-1}pq} [2^{q-1}q + \max((2^p - 1)q, p)] \leq B(p, q) \leq \frac{1}{2^{p+q-1}pq} [2^{p-1}p + \min((2^q - 1)p, q)].$$

Proof. We use the equality $B(p, q) = \int_0^{\frac{1}{2}} t^{p-1}(1-t)^{q-1} dt + \int_0^{\frac{1}{2}} t^{q-1}(1-t)^{p-1} dt$, and the double inequality $\frac{1}{2} < 1-t < 1$, for $0 < t < \frac{1}{2}$.

1. If $p \geq q \geq 1$, then

$$B(p, q) \leq \left(\frac{1}{2}\right)^{p-1} \int_0^{\frac{1}{2}} (1-t)^{q-1} dt + \left(\frac{1}{2}\right)^{q-1} \int_0^{\frac{1}{2}} (1-t)^{p-1} dt = \frac{(2^q-1)p+(2^p-1)q}{2^{p+q-1}pq},$$

and

$$B(p, q) \geq \left(\frac{1}{2}\right)^{q-1} \int_0^{\frac{1}{2}} t^{p-1} dt + \left(\frac{1}{2}\right)^{p-1} \int_0^{\frac{1}{2}} t^{q-1} dt = \frac{p+q}{2^{p+q-1}pq}.$$

2. If $0 < q \leq p \leq 1$, then the precedent inequalities are reversed.

3. If $0 < q \leq 1 \leq p$, then

$$B(p, q) \leq \left(\frac{1}{2}\right)^{p-1} \int_0^{\frac{1}{2}} (1-t)^{q-1} dt + \int_0^{\frac{1}{2}} t^{q-1} dt = \frac{2^q-1}{2^{p+q-1}q} + \frac{1}{2^qq},$$

$$B(p, q) \leq \left(\frac{1}{2}\right)^{q-1} \int_0^{\frac{1}{2}} t^{p-1} dt + \int_0^{\frac{1}{2}} t^{q-1} dt = \frac{1}{2^{p+q-1}p} + \frac{1}{2^qq},$$

$$B(p, q) \geq \int_0^{\frac{1}{2}} t^{p-1} dt + \left(\frac{1}{2}\right)^{p-1} \int_0^{\frac{1}{2}} t^{q-1} dt = \frac{1}{2^pp} + \frac{1}{2^{p+q-1}q},$$

and

$$B(p, q) \geq \int_0^{\frac{1}{2}} t^{p-1} dt + \left(\frac{1}{2}\right)^{q-1} \int_0^{\frac{1}{2}} (1-t)^{p-1} dt = \frac{1}{2^pp} + \frac{2^p-1}{2^{p+q-1}p}.$$

Corollary 2.5

$$\forall p > 0, \quad \frac{\min(2^p-1, 1)}{2^{2(p-1)}p} \leq B(p, p) \leq \frac{\max(2^p-1, 1)}{2^{2(p-1)}p}.$$

3. APPLICATIONS

Proposition 3.1

$$\forall k > 0, \frac{2^{k+3}}{\pi(2k+1)} \min \left(\left(2^{\frac{k}{2}} - 1 \right) \left(2^{k+\frac{1}{2}} - 1 \right), 2^{\frac{k}{2}} - 1, 1 \right) \leq \frac{\sqrt{\pi} \Gamma\left(k+\frac{1}{2}\right)}{\left(\Gamma\left(\frac{k+1}{2}\right)\right)^2}$$

$$\leq \frac{2^{k+3}}{\pi(2k+1)} \max \left(1, 2^{k+\frac{1}{2}} - 1, \left(2^{\frac{k}{2}} - 1 \right) \left(2^{k+\frac{1}{2}} - 1 \right) \right).$$

Proof. By using the relations (3), (1), and (2), we get

$$\frac{\sqrt{\pi} \Gamma\left(k+\frac{1}{2}\right)}{\left(\Gamma\left(\frac{k+1}{2}\right)\right)^2} = \frac{2^{2(2k-1)k}}{\pi} B\left(\frac{k}{2}, \frac{k}{2}\right) B\left(k+\frac{1}{2}, k+\frac{1}{2}\right).$$

Note that $\frac{k}{2} < k + \frac{1}{2} < 1$, if $0 < k < \frac{1}{2}$, $\frac{k}{2} < 1 \leq k + \frac{1}{2}$, if $\frac{1}{2} \leq k < 2$, and $1 \leq \frac{k}{2} < k + \frac{1}{2}$, if $k \geq 2$. The desired result is now obtained by Corollary 2.5.

Proposition 3.2

If $0 < \theta < \frac{\pi}{2}$ and $0 \leq \lambda < k$, then

$$\frac{\min(2^k - 1, 1)}{2^{k-1}k} (\sin\theta)^{2k-1} \leq 2^{k-1} B(k, k) (\sin\theta)^{2k-1} \leq \int_0^\theta (\cos\phi - \cos\theta)^{k-1} \cos(\lambda\phi) d\phi$$

$$\leq \frac{2^{k-2} B(k, k) B\left(\frac{k+\lambda}{2}, \frac{k-\lambda}{2}\right)}{B(k+\lambda, k-\lambda)} (\sin\theta)^{2k-1}.$$

Proof. Let $0 < \theta < \frac{\pi}{2}$ and $0 \leq \lambda < k$. We have

$$\int_0^\theta (\cos\phi - \cos\theta)^{k-1} \cos(\lambda\phi) d\phi = \sqrt{\frac{\pi}{2}} \Gamma(k) (\sin\theta)^{k-\frac{1}{2}} P_{\lambda-\frac{1}{2}}^{\frac{1}{2}-k}(\cos\theta)$$

$$= \frac{2^{k-1} B(k, k)}{B(k+\lambda, k-\lambda)} (\sin\theta)^{2k-1} \int_0^{+\infty} \frac{t^{k+\lambda-1}}{(1+2t\cos\theta+t^2)^k} dt,$$

where $P_{\lambda-\frac{1}{2}}^{\frac{1}{2}-k}(\cos\theta)$ denotes the Legendre function, and

$$\forall t > 0, \frac{1}{(1+t)^{2k}} \leq \frac{1}{(1+2t\cos\theta+t^2)^k} \leq \frac{1}{(1+t^2)^k}.$$

By using (4), the equality $\int_0^{+\infty} \frac{t^{k+\lambda-1}}{(1+t^2)^k} dt = \frac{1}{2} \int_0^{+\infty} \frac{s^{\frac{k+\lambda}{2}-1}}{(1+s)^k} ds$, and the first inequality of Corollary 2.5, we get the result.

Corollary 3.3

If $0 < \theta < \frac{\pi}{2}$ and $0 \leq \lambda < k$, then

$$1 \leq R_{-(k-\lambda)}^{\left(k-\frac{1}{2}, k-\frac{1}{2}\right)}(\cos\theta) = {}_2F_1\left(k+\lambda, k-\lambda; k+\frac{1}{2}; \sin^2\left(\frac{\theta}{2}\right)\right)$$

$$\leq \frac{B\left(k+\frac{1}{2}, \frac{1}{2}\right)}{B\left(\frac{k+\lambda+1}{2}, \frac{k-\lambda+1}{2}\right)} \leq \frac{\pi(k-\lambda+1)2^{k-\lambda-2-\min(k,1)+\max(\lambda,1)}}{\min\left(2^{\frac{k-\lambda+1}{2}}-1, 1\right)},$$

where $R_\mu^{(\alpha, \beta)}(z)$ is the Jacobi function, of index (α, β) , normalized by $R_\mu^{(\alpha, \beta)}(1) = 1$.

Proof. We have

$$\int_0^\theta (\cos\phi - \cos\theta)^{k-1} \cos(\lambda\phi) d\phi = \sqrt{\frac{\pi}{2}} \Gamma(k) (\sin\theta)^{k-\frac{1}{2}} P_{\lambda-\frac{1}{2}}^{\frac{1}{2}-k}(\cos\theta),$$

$$P_{\lambda-\frac{1}{2}}^{\frac{1}{2}-k}(\cos\theta) = \tan^{k-\frac{1}{2}}\left(\frac{\theta}{2}\right) {}_2F_1\left(\frac{1}{2}-\lambda, \frac{1}{2}+\lambda; k+\frac{1}{2}; \sin^2\left(\frac{\theta}{2}\right)\right),$$

and

$${}_2F_1\left(\frac{1}{2}-\lambda, \frac{1}{2}+\lambda; k+\frac{1}{2}; \sin^2\left(\frac{\theta}{2}\right)\right) = \cos^{2k-1}\left(\frac{\theta}{2}\right) {}_2F_1\left(k+\lambda, k-\lambda; k+\frac{1}{2}; \sin^2\left(\frac{\theta}{2}\right)\right).$$

Then

$${}_2F_1\left(k+\lambda, k-\lambda; k+\frac{1}{2}; \sin^2\left(\frac{\theta}{2}\right)\right) = \frac{2^k \Gamma\left(k+\frac{1}{2}\right)}{\sqrt{\pi} \Gamma(k)} (\sin\theta)^{1-2k} \times \int_0^\theta (\cos\phi - \cos\theta)^{k-1} \cos(\lambda\phi) d\phi.$$

Note that $\frac{2^{2k-1} B(k,k) \Gamma\left(k+\frac{1}{2}\right)}{\sqrt{\pi} \Gamma(k)} = 1$, and $\frac{B\left(\frac{k+\lambda}{2}, \frac{k-\lambda}{2}\right)}{2B(k+\lambda, k-\lambda)} = \frac{B\left(k+\frac{1}{2}, \frac{1}{2}\right)}{B\left(\frac{k+\lambda+1}{2}, \frac{k-\lambda+1}{2}\right)}$. Now, by using Proposition 3.2,

Proposition 2.2 and Corollary 2.5, we finish the proof.

ACKNOWLEDGEMENTS

Thanks to the referee for careful reading and helpful comments.

REFERENCES

- [1] M. Abramowitz and I.A. Stegun, eds., Handbook of mathematical functions with formulas, graphs and mathematical tables, 10th printing, Dover, New York, 1972.
- [2] H. Alzer, Some gamma function inequalities, Math. Comp., **60**(201) (1993), 337-346.
- [3] H. Alzer, On some inequalities for the gamma and psi functions, Math. Comp., **66**(217) (1997), 373-389.
- [4] H. Alzer, Inequalities for the gamma function, Proc. Amer. Math. Soc., **128**(1) (2000), 141-147.
- [5] L.C. Andrews, Special functions for engineers and applied mathematics, Macmillan Publishing Company, New York, 1985.
- [6] G.E. Andrews, R. Askey, and R. Roy, Special Functions, Encyclopedia of Mathematics and its Applications **71**, Cambridge University Press, New York, 1999.
- [7] E. Artin, The gamma function, Holt, Rinehart and Winston, New York, 1964.
- [8] E.W. Barnew, The theory of the gamma function, Messenger Math., **29**(2) (1900), 64-128.
- [9] N. Batir, Some new inequalities for gamma and polygamma functions, RGMIA Res. Rep. Coll., **7**(3), (2004), Art. 1, 9 pp., J. Inequal. Pure Appl. Math., **6**(4) (2005), Art. 103, 9 pp.
- [10] N. Batir, Some gamma function inequalities, RGMIA Res. Rep. Coll., **9**(3) (2006), Art. 5, 11 pp.
- [11] L. Bougoffa, Some inequalities involving the gamma function, J. Inequal. Pure Appl. Math., **7**(5) (2006), Art. 179, 3 pp.
- [12] J. Bustoz and M.E.H. Ismail, On gamma function inequalities, Math. Comp., **47**(176) (1986), 659-667.
- [13] W.E. Clark and M.E.H. Ismail, Inequalities involving gamma and psi functions, Anal. Appl. (Singap.), **1**(1) (2003), 129-140.
- [14] P.J. Davis, Leonhard Euler's Integral: A historical profile of the gamma function, Amer. Math. Monthly, **66** (1959), 849-869.
- [15] S.S. Dragomir, R.P. Agarwal, and N.S. Barnett, Inequalities for beta and gamma functions via some classical and new integral inequalities, J. Inequal. Appl., **5** (2000), 103-165.
- [16] J. Dutka, On some gamma functions inequalities, SIAM J. Math. Anal., **16** (1985), 180-185.
- [17] A. Elbert and A. Laforgia, On some properties of the gamma function, Proc. Amer. Math. Soc., **128** (2000), 2667-2673.
- [18] A. Erdélyi, W. Magnus, F. Oberhettinger, and F.G. Tricomi, Higher transcendental functions, vol. I, McGraw-Hill, New York, 1953.
- [19] W. Gautschi, Some elementary inequalities relating to the gamma and incomplete gamma function, J. Math. Phys. **38**(1-4) (1959), 77-81.
- [20] W. Gautschi, Some mean value inequalities for the gamma function, SIAM J. Math. Anal., **5** (1974), 282-292.

- [21] C. Giordano and A. Laforgia, Inequalities and monotonicity properties for the gamma function, *J. Comput. Appl. Math.*, **133** (2001), 387-396.
- [22] M.B. Godefroy, *La fonction gamma ; Théorie, histoire, bibliographie*, Gauthier-Villars, Paris, 1901.
- [23] P.J. Grabner, R.F. Tichy, and U.T. Zimmermann, Inequalities for the gamma function with applications to permanents, *Discrete Math.*, **154** (1996), 53-62.
- [24] I.S. Gradshteyn and I.M. Ryzhik, *Table of integrals, series, and products*, 7th Edition (English Transl. Ed. by Alan Jeffrey and Daniel Zwillinger), Academic Press, 2007.
- [25] S.G. Krantz, *Handbook of complex variables*, Birkhauser, Boston, 1999.
- [26] W. Koepf, *Hypergeometric summation: An algorithmic approach to summation and special function identities*, Second Edition, Springer-Verlag, London, 2014.
- [27] C. Lanczos. A precision approximation of the gamma function, *J. SIAM Numer. Anal. Ser. B*, **1**(1) (1964), 86-96.
- [28] N.N. Lebedev, *Special functions and their applications*, Prentice-Hall, London, 1965.
- [29] Y.L. Luke, *The special functions and their approximations*, Vol. 1, Academic Press, 1969.
- [30] Y.L. Luke, *Mathematical functions and their approximations*, Academic Press, New York, 1975.
- [31] A.McD. Mercer, Some new inequalities for the gamma, beta and zeta functions, *J. Inequal. Pure Appl. Math.*, **7**(1) (2006), Art. 29, 15 pp.
- [32] M. Merkle, Inequalities for the gamma function via convexity, In: P. Cerone, S.S. Dragomir (Eds.), *Advances in inequalities for special functions*, Nova Science Publishers, Hauppauge-NewYork, 2008, 81-100.
- [33] K. Oldham, J. Myland, and J. Spanier, *An atlas of functions: with equator, the atlas function calculator*, Second Edition, Springer, 2009.
- [34] F. Qi, Parametric integrals, the Catalan numbers, and the beta function, *Elem. Math.*, **72**(3) (2017), 103-110.
- [35] E.D. Rainville, *Special functions*, Chelsea Publishing Company, New York, 1960.
- [36] J. Sandor, A note on certain inequalities for the gamma function, *J. Inequal. Pure Appl. Math.*, **6**(3) (2005), Art. 61, 3 pp.
- [37] J. Sandor, On certain inequalities for the gamma function, *RGMA Res. Rep. Coll.*, **9**(1) (2006), Art. 11, 4 pp.
- [38] A.Sh. Shabani, Some inequalities for the gamma function, *J. Inequal. Pure Appl. Math.* **8**(2) (2007), Art. 49, 4 pp.
- [39] W. Sibagaki, *Theory and applications of the gamma function*, Iwanami Syoten, Tokyo, Japan, 1952.
- [40] R. Vidunas, Expressions for values of the gamma function, *Kyushu J. Math.*, **59**(2) (2005), 267-283.
- [41] G.N. Watson, A note on gamma functions, *Edinburgh Math. Notes*, **42** (1959), 7-9.
- [42] J.G. Wendel, Note on the gamma function, *Amer. Math. Monthly*, **55**(9) (1948), 563-564.
- [43] Z.-H. Yang and J.-F. Tian, Monotonicity and inequalities for the gamma function, *J. Inequal. Appl.*, (2017) 2017:317, 15 pp.
- [44] Z.-H. Yang and J.-F. Tian, Monotonicity and sharp inequalities related to gamma function, *J. Math. Inequal.*, **12**(1) (2018), 1-22.